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Marking Scheme 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination,2025 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/1/1) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totalled up and written in the left-

hand margin and encircled. This may be followed strictly. 



 

XII_030_58/1/1_Economics_2025 # Page-2 

 

8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view 

of the reduced syllabus and number of questions in question paper. 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:-  

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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MARKING SCHEME 

Senior School Certificate Examination 2025 

ECONOMICS   (Subject Code–030) 
[Paper Code: 58/1/1] 

Maximum Marks: 80 

Q. 

No. 
EXPECTED ANSWER / VALUE POINTS 

Marks 

SECTION -A 

(Macro Economics) 

1. In the context of Current Account transactions of Balance of Payment, identify the incorrect 

statement from the following:           (Choose the correct option) 

Options: 

(A) Export of goods and services are recorded as credit items. 

(B) Import of goods and services are recorded as debit items. 

(C) All transfer payments are recorded as debit items. 

(D) All transfer receipts are recorded as debit items. 

Ans. (D) All transfer receipts are recorded as debit items. 

 

 

 

 

 

 

 

1 

2. From the items given in Column-I and Column-II, choose the correct pair. 

 Column-I     Column-II 

(a) Income from Property  (i) Old age pension 

(b) Income from Entrepreneurship (ii) Profit 

(c) Mixed Income   (iii) Rent free accommodation from an employer 

(d) Compensation of Employees (iv) Interest from capital 

Options: 

(A) (a) – (i)     (B) (b) – (ii) 

(C) (c) – (iii)      (D) (d) – (iv) 

Ans. (B) (b) – (ii) 

 

 

 

 

 

 

 

 

 

1 

3. Read the following statements carefully: 

Statement-1: Managed floating exchange rate system is an amalgamation of fixed and 

flexible exchange rate system. 

Statement-2: Managed floating exchange rate system is also known as ‘hybrid system’. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (C) Both Statements 1 and 2 are true. 

 

 

 

 

 

 

 

 

 

1 

4. “Irfaan (a student) borrows ₹ 80,000 to finance his college fee. He plans to begin repaying 

the loan six months after his graduation, making payments over a span of ten years.” 

Based on above text, identify the indicated function of money. 

(Choose the correct option) 

Options: 

(A) Medium of Exchange   (B) Unit of Account 

(C) Standard of Deferred Payments  (D) Store of Value 

Ans. (C) Standard of Deferred Payments  

 

 

 

 

 

 

 

1 

5. Suppose, the saving curve of an economy makes an intercept at a negative value of ₹ 50 

crores. In the economy, 20% of an increase in income is saved.  

In the light of above context, identify the value of investment multiplier (K): 
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Options: 

(A) 2      (B) 5 

(C) 10      (D) ∞ (infinite) 

Ans. (B) 5 

 

 

 

1 

6. Read the following statements: Assertion (A) and Reason (R). Choose the correct option 

from those given below: 

Assertion (A): Public goods are those goods that are collectively consumed by the public. 

Reason (R): Public goods are excludable and rivalrous in nature.  

Options: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true.  

Ans. (C) Assertion (A) is true, but Reason (R) is false. 

 

 

 

 

 

 

 

 

 

 

 

1 

7. Suppose, the value of Average Propensity to Consume (APC) is 0.8 and National Income 

is ₹ 4,000 crores, the value of saving would be ₹ ________ crores. 

(Choose the correct option to fill up the blank) 

Options: 

(A) 100      (B) 200 

(C) 500     (D) 800 

Ans. (D) 800  

 

 

 

 

 

 

1 

8. In the context of the Commercial Banks, which of the following statements are correct?  

(Choose the correct option) 

(I) Deposits received are liabilities for Commercial Banks. 

(II) They are creator of credit in the economy. 

(III) They accept deposits from general public. 

(IV) They accept deposits on behalf of Reserve Bank of India. 

Options: 

(A) (I), (II), and (III)    (B) (II) and (III) 

(C) (I) and (II)     (D) (I) and (IV) 

Ans. (A) (I), (II) and (III) 

 

 

 

 

 

 

 

 

 

1 

9. If a country exports goods worth of ₹ 600 crores and imports goods worth of ₹ 450 crores, 

the value of Balance of Trade of the country would be _______ of ₹_______ crores. 

(A) deficit, 150    (B) surplus, 150 

(C) deficit, 1,050    (D) surplus, 1,050 

Ans. (B) surplus, 150 

 

 

 

 

1 

10. From the set of terms given in Column-I and Column-II, choose the correct pair: 

 Column-I                                                   Column-II 

(a) Non-tax Revenue                                   (i) Goods and Services Tax 

(b) Indirect Tax                                           (ii) Free-rider 

(c) Capital expenditure                               (iii) Borrowings 

(d) Private goods                                        (iv) Rivalrous in nature 

Options: 

(A) (a) - (i)     (B) (b) - (ii) 

(C) (c) - (iii)     (D) (d) - (iv) 

Ans. (D) (d) – (iv) 

 

 

 

 

 

 

 

 

 

1 
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11. 

(a) 

Calculate the value of Net Value Added at Factor Cost (NVAFC): 

S. No. Particulars Amount  

(In ₹ crore) 

(i) Operating Surplus 3,740 

(ii) Increase in unsold stock 600 

(iii) Sales 10,625 

(iv) Purchase of raw materials 2,625 

(v) Consumption of fixed capital 500 

(vi) Subsidies 400 

(vii) Indirect taxes 1,200 

Ans.  

Net Value Added at Factor Cost (NVAFC) = (iii) + (ii) – (iv) – (v) – {(vii) – (vi)} 

      = 10,625 + 600 – 2,625 – 500 – {1,200 – 400} 

      = ₹ 7,300 crore   

 

 

 

 

 

 

 

 

 

 

 

1 ½  

1 

½  

 OR 3 

(b) Distinguish between Net Factor Income from Abroad (NFIA) and Net Exports (X - M). 

Ans. Net Factor Income from Abroad (NFIA) is the difference between factor income 

received from the rest of the world and factor income paid to the rest of the world. 

Whereas; 

Net Exports (X – M) is the difference between the value of exports of goods and services 

and the value of imports of goods and services. 

 

1 ½  

 

 

1 ½  

 

  3 

12. “The Government had launched Incredible India Campaign to promote tourism in various 

parts of the country.” 

Elaborate the impact of this campaign on foreign exchange reserves and Balance of Payment 

of India. 

Ans. Tourism industry has been benefitted by the launch of Incredible India Campaign 

significantly on the front of the influx of foreign exchange. This inflow of foreign 

currency will be recorded on the credit side of the current account of Balance of 

Payment (BoP). This has not only increased the foreign exchange reserves of India but 

also has improved the BoP status of the nation.        (To be marked as a whole) 

 

 

 

 

 

3 

13. 

 

“Under the Ayushmaan Bharat Scheme, the government provides free medical treatment to 

the poorer section of the society.” 

Identify and explain the nature of budget expenditure and its objective, indicated in the given 

statement. 

Ans. The highlighted statement exhibits the Revenue Expenditure. Revenue 

expenditure is the expenditure that neither leads to creation of assets nor leads to 

reduction in liabilities of the government.   

The indicated objective of the government budget is the ‘Redistribution Function’.  

Free medical treatment under the Ayushmaan Bharat Scheme aims to bring equity in 

the income distribution in the economy. Such services to poorer sections of society 

reduce their medical expenses, leaving higher disposable income in their hands. 

Thereby bridging the gap between the rich and the poor.      (To be marked as a whole) 

 

 

 

 

 

 

 

 

4 

 

 

14. Suppose in an economy, primary deposits are ₹ 500, if the Reserve Ratio is 25%. Estimate 

the total deposits created and the total lending by the banking system. 

Ans. Given, Primary Deposits = ₹ 500  

    Reserve Ratio = 25% 
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Total deposits = Primary deposits x 
𝟏

𝑹𝒆𝒔𝒆𝒓𝒗𝒆 𝑹𝒂𝒕𝒊𝒐
 

     = 500 x 
𝟏

𝟎.𝟐𝟓
 

     = ₹ 2,000  

Total lending = Total deposits – Primary deposits 

  = 2,000 – 500  

  = ₹ 1,500  

1 

½  

½  

1 

½  

½  

  4 

15. 

(a) 

 

 

In an economy; C = 200 + 0.75 Y (where C is consumption expenditure and Y is National 

Income). Investment expenditure is ₹ 4,000 Crore.  

Calculate the following: 

(i) Equilibrium level of income. 

(ii) Total consumption expenditure at equilibrium income level. 

Ans. Given,  

     C = 200 + 0.75 Y  

Investment Expenditure = ₹ 4,000 crore 

As we know,  

(i) At equilibrium level of income, Y= C + I 

               Y= 200 + 0.75Y + 4,000 

              Y = ₹ 16,800 crore 

(ii) Total consumption expenditure at equilibrium level of income = 200 + 0.75 Y 

                    = 200 + 0.75 (16,800) 

                       = ₹ 12,800 crore  

 

 

 

 

 

 

 

 

 

1 ½  

1   

½  

 

½  

½  

 OR 4 

(b) Explain the adjustment mechanism in case ex-ante savings are greater than ex-ante 

investments. 

Ans. When ex-ante savings are greater than ex-ante investments, it means households 

are planning to consume less than what the firms expected them to consume.  

This will lead to unintended accumulation of inventories. To bring back the inventory 

to the desired level, producers may intend to decrease production in the economy. This 

mechanism will continue till the equilibrium is reinstated. 

(To be marked as a whole) 

 

 

 

4 

16. 

 
Read the following text carefully: 

Union Food and Consumer Affairs Minister said that the Central Government has taken many 

proactive steps in the past few years to control retail prices of food items. He said that the 

government aims to keep inflation under control without compromising the country’s 

economic growth. Retail inflation inched up to a three-month high of 5.55% in November 

2023 driven by higher food prices. Inflation has been declining since August 2023, when it 

touched 6.83%. 140 new price monitoring centres had been set up by the Central Government 

to keep a close watch on wholesale and retail prices of essential commodities.  

The Government has banned the export of many food items like wheat, broken rice, non-

basmati white rice, onions etc. It has also reduced import duties on edible oils and pulses to 

boost domestic supply and control price rise. 

On the basis of the given text and common understanding, answer the following questions: 

(a) Mention the number of new price monitoring centres set up by government.  

Ans. 140 new price monitoring centres had been set up by the Central Government. 

(b) State any two proactive measures taken by government to boost domestic supply and 

reduction in prices.  

Ans. Two proactive measures taken by government to boost domestic supply and 

reduction in prices are:  

 

 

 

 

 

 

 

 

 

 

 

 

 

1 
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• Ban on the export of many food items. 

• Reduction in import duties on edible oils and pulses. 

 

(c) Explain any one monetary measure used to control inflation. 

Ans. To deal with the situation of inflation, the Central Bank may increase the repo 

rate. 

An increase in repo rate will force commercial banks to increase their lending rates 

making the credit costlier. Thereby, discouraging the borrowings by the general public 

and leading to a subsequent fall in the Aggregate Demand. Thus, controlling the 

problem of inflation in the economy.                       (To be marked as a whole) 

(Any other valid measure to be awarded marks) 

1 

1 

 

 

 

 

 

3 

 

  6 

17. 

(a)  

 

 

 

 

 

 

(i) Explain any two precautions to be adopted while estimating National Income by 

Expenditure method.  

Ans. Two precautions to be adopted while estimating National Income by Expenditure 

Method are: 

• Expenditure on intermediate goods should not be included as it will lead to the 

problem of double counting.   

• Expenditure on purchase of second-hand goods should not be included as it does 

not add to the flow of goods and services in the current year. 

     (Any other valid precaution to be awarded marks) 

 

(ii) “Higher Gross Domestic Product (GDP) always means higher per capita availability of 

goods in the economy.” 

Defend or refute the given statement as the index of welfare of the people of that country. 

Ans. The given statement is refuted. Gross Domestic Product (GDP) may not affect the 

welfare of all the sections of the society in the same dimension. This is because a given 

rise in GDP may not increase the per capita availability of goods due to concentration 

in a few hands. For the rest, the income may have fallen. In such a case, the welfare of 

the entire economy may not increase despite the increase in GDP. 

             (To be marked as a whole) 

 

 

 

 

1 ½  

 

1 ½ 

 

 

 

 

 

 

 

3  

 OR 6 

(b) (i) Distinguish between Stock and flow variables, using suitable examples. 

Ans. Stock variables refer to those variables which are measured at a particular point 

of time.  

Example: National Wealth 

Flow variables refer to those variables which are measured over a period of time.  

Example: National Income      (Any other valid example to be awarded marks) 

(ii) Explain the components of ‘Profit’ as per Income Method of estimating National Income 

(NNPFC). 

Ans. The components of ‘Profit’ as per Income Method of estimating National Income 

(NNPFC): 

• Corporate Tax: Taxes imposed on the income made by the corporations (or 

private sector firms). 

• Undistributed Profits: Part of the profit earned by the private and government-

owned firms which are not distributed among the factors of production. 

• Dividend: The residual profit which is distributed among the shareholders 

(owners of capital). 

 

1 

 

½  

1 

½ 

 

 

 

 

1 

 

1 

 

1 

  

  6 
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SECTION – B 

(Indian Economic Development) 

18. ______ sector was the primary focus of the Great Leap Forward in China. 

(Fill up the blank with correct option) 

Options: 

(A) Tax     (B) Industrial 

(C) Financial     (D) Educational 

Ans. (B) Industrial 

 

 

 

 

 

1 

19. Study the following picture: 

 

 

 

 

 

 

 

 

 

Identify and select, the recent phenomenon in which demand for resources surpasses their 

supply. 

Options: 

(A) Economic growth    (B) Environmental crisis 

(C) Technological advancement  (D) Cultural evolution 

Ans. (B) Environmental crisis 

 

Note: The following question is for the visually impaired candidates only, in lieu of 

           Q. No. 19. 

Identify, which of the following is NOT one of the strategies for Sustainable Development. 

Options: 

(A) Use of non-conventional sources of energy 

(B) Use of fossil fuel for transportation 

(C) Use of traditional knowledge 

(D) Use of organic compost manure 

Ans. (B) Use of fossil fuel for transportation 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

 

 

 

 

 

 

 

 

 

1 

20. Read the following statements carefully: 

Statement-1: Hired workers may be regular salaried workers or casual workers. 

Statement-2: Regular salaried employment is a major source of employment in rural areas 

in India. 

In the light of the given statements, choose the correct option from the following: 

(A) Statement 1 is true and Statement 2 is false. 

(B) Statement 1 is false and Statement 2 is true. 

(C) Both Statements 1 and 2 are true. 

(D) Both Statements 1 and 2 are false. 

Ans. (A) Statement 1 is true and Statement 2 is false. 

 

 

 

 

 

 

 

 

 

1 

21. From the terms given below in Column-I and Column-II, choose the correct pair of 

statements: 
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      Column-I              Column-II 

(i) Subsidies    (a) Maximum quantity of goods  

            that can be imported 

(ii) Land ceiling   (b) Element of IPR 1956 

(iii) Small Scale Industries  (c) Land to the tiller 

(iv) Modernisation as a goal  (d) Change in social outlook  

       of five year plan  

Options: 

(A) (i) – (a)    (B) (ii) – (b) 

(C) (iii) – (c)    (D) (iv) – (d) 

Ans. (D) (iv) – (d) 

 

 

 

 

 

 

 

 

 

 

1 

22. “It is short-term unemployment occurring, as people transit between jobs.” 

On the basis of the given definition, identify the type of unemployment indicated.  

(Choose the correct option) 

Options: 

(A) Disguised Unemployment 

(B) Seasonal Unemployment 

(C) Open Unemployment 

(D) Frictional Unemployment 

Ans. (D) Frictional Unemployment 

 

 

 

 

 

 

 

 

1 

23. Read the following statements carefully: Assertion (A) and Reason (R). Choose the correct 

option from those given below: 

Assertion (A): Prior to economic reforms, public investment in social infrastructure by 

China resulted in better Human Development Indicators (HDI). 

Reason (R): China is ahead of India and Pakistan on many Human Development Indicators 

(HDI). 

Options: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 

Ans. (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct 

explanation of Assertion (A). 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

24. Study the following image carefully: 

 

 

 

 

 

 

 

Identify, the trade practice that has successfully replaced foreign goods with domestic 

production. 

Options: 

(A) Export Promotion    (B) Export Substitution 

(C) Import Proliferation   (D) Import Substitution 

Ans. (D) Import Substitution 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 
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Note: The following question is for the visually impaired candidates only, in lieu of  

           Q. No. 24. 

_________ refers to a trade policy aimed at reducing reliance on imported goods by 

encouraging domestic production. 

Options: 

(A) Export Promotion    (B) Export Substitution 

(C) Import Substitution   (D) Import Proliferation 

Ans. (C) Import Substitution 

 

 

 

 

 

 

 

1 

25. From the following terms given in Column-I, match the correct pair of meaning given in 

Column-II: 

  Column-I                       Column-II                      

(a) Human Development Indicator              (i) Rule of Law 

(b) Demographic Indicator                          (ii) Constitutional Protection 

(c) Special Economic Zone                             (iii) Generation of additional economic activities 

(d) Commune System                                  (iv) Collective industrialisation 

Options: 

(A) (a) – (i)     (B) (b) – (ii) 

(C) (c) – (iii)     (D) (d) – (iv) 

Ans. (C) (c) – (iii) 

 

 

 

 

 

 

 

 

 

 

1 

26. Read the following statements carefully: Assertion (A) and Reason (R). Choose the correct 

option from those given below: 

Assertion (A): Human capital formation increases the rate of participation of population to 

economic activities and leads to economic growth. 

Reason (R): Rate of participation of people refers to the percentage of people engaged in 

production process of a country. 

Options: 

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A). 

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation 

of Assertion (A). 

(C) Assertion (A) is true, but Reason (R) is false. 

(D) Assertion (A) is false, but Reason (R) is true. 

Ans. (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct 

explanation of Assertion (A). 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 

27. India is NOT a member of which of the following regional/global economic grouping? 

(A) BRICS     (B) SAARC 

(C) G-20     (D) G-7 

Ans. (D) G-7 

 

 

 

1 

28. 

(a) 

 

 

 

 

“Cooperatives have received a setback during the recent past.” 

Justify the given statement with valid explanation. 

Ans. Cooperative marketing has supported farmers in obtaining fair prices for their 

produce in the market. However, in recent times, they have encountered several 

challenges, including:  

• inadequate coverage of farmer members 

• insufficient connection between marketing and processing cooperatives  

• inefficient financial management                                   (To be marked as a whole) 

 

 

 

 

 

3 

 

 OR  

(b) Explain the reasons behind less number of regular salaried employees in rural areas as 

compared to urban areas. 
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Ans. In India, rural areas have lesser number of regular salaried employees compared 

to the urban areas, as: 

• most of the rural workforce is involved directly/indirectly in their farm and 

other allied activities. 

• regular salaried employment opportunities require skills and qualifications, 

which are generally not accessible to the rural population. 

(To be marked as a whole) 

 

 

 

3 

29. 

 

Trace the relationship between Human capital and Economic growth. 

Ans. Human capital and economic growth of a nation are positively correlated. Human 

capital refers to the stock of knowledge and skill set of population of a nation. Investing 

in human capital improves efficiency and abilities of the human resource of the 

country.  

Technical skills gained through various sources of human capital formation (education, 

health, training etc.) contribute to increased productivity and output. Additionally, 

human capital fosters innovation and enhances the capacity to adopt new technologies, 

leading to economic growth.           (To be marked as a whole) 

 

 

 

3 

 

30. 

 

(a) “Bio-pesticides help to reduce the ill-impacts of green revolution on soil and water bodies 

while promoting sustainable development.” 

Justify the given statement with valid explanation. 

Ans. Owing to the introduction of the Green Revolution in India, the usage of more and 

more chemical pesticides had adverse impacts such as contaminated soil, water bodies 

and groundwater.  

The use of bio-pesticides serves as an eco-friendly alternative to chemical pesticides. In 

addition to this, promoting natural predators like snakes and birds help to control 

pests, support the ecosystem, and contribute to sustainable agriculture. 

               (To be marked as a whole) 

(b) Define Absorptive capacity. 

Ans. Absorptive capacity means the ability of the environment to absorb degradation. 

 

 

 

 

3 

 

 

 

 

 

 

1 

  4 

31. 

(a) 

Describe briefly the rationale behind choosing ‘Self-reliance’ as a planning objective for the 

Indian economy. 

Ans. ‘Self-reliance’ was adopted as a central planning objective in India's development 

strategy by the policymakers due to the following reasons: 

• To reduce the dependence on foreign nations, the stress was laid on mobilising 

domestic resources. 

• It was feared that the dependence on imported food supplies, foreign 

technology, and foreign capital may increase foreign interference in our policies. 

                                                                               (To be marked as a whole) 

 

 

 

 

4 

 

 OR  

(b) 

 

Explain how, the Goods and Services Tax (GST) has simplified the multiplicity of taxes on 

goods and services. 

Ans. Goods and Service Tax (GST) is the single comprehensive indirect tax. Under 

GST, tax is imposed on the basis of value addition at each stage of the movement of 

goods and services. It has replaced large number of indirect taxes levied on 

production/sale of goods or provision of service.  

Thus, GST ensures uniformity, reduces tax burden, prevents cascading effects, and 

enhances ease of doing business across the country.      (To be marked as a whole) 

 

 

 

4 

32. 

 

Describe the path of developmental initiatives taken by Pakistan for its economic 

development. 
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Ans. Pakistan adopted a mixed economy model with the co-existence of public and 

private sectors. A variety of regulated policy frameworks were initiated to ensure 

import substitution-based industrialisation.  

The introduction of Green Revolution led to the mechanisation of agricultural 

procedures. An increase in public investment in infrastructure changed the agrarian 

structure drastically. Pakistan also nationalised its capital goods industries. Later on, 

economic reforms were initiated to encourage privatisation.   

            (To be marked as a whole) 

 

 

4 

 

 

 

33. 

(a) 

Giving valid reasons, state whether the following statements are true or false.  

(i) India followed unbalanced growth during the colonial rule. 

Ans. True. India’s economy under the colonial rule remained fundamentally agrarian, 

there was hardly any capital goods industry. Furthermore, the growth rate of the newly 

devised industrial sector and its contribution to the Gross Domestic Product (GDP) 

remained very small. 

 

(ii) The economic policies implemented in India between 1950–1990’s sought to promote 

regional equality. 

Ans. True. To promote regional equality, the process of obtaining an industrial license 

in an economically backward area, was made easier. Moreover, to ensure the efficiency 

and effectiveness of industrial operations, such units were given certain concessions 

such as tax benefits and electricity at a lower tariff. 

 

(iii) India has become a favourable destination of outsourcing, in post 1991 period. 

Ans. True. Availability of skilled manpower at a relatively affordable cost has made 

India a leading outsourcing hub for Multinational Corporations (MNCs) to outsource 

their services to India. 

 

 

 

2 

 

 

 

 

 

 

2 

 

 

 

 

2 

 OR 6 

(b) (i) Distinguish between:  

(1) Tariff and non-tariff barriers 

Ans. Tariff barriers refer to the restrictions on imports by a government in the form of 

taxes. Whereas, non-tariff barriers are the restrictions on imports by a government in 

the form other than taxes mainly including restrictions on the quantity and quality of 

goods imported. 

(2) Bilateral and multilateral trade 

Ans. Bilateral trade refers to the exchange of goods or services between two countries. 

Whereas, multilateral trade is the trade by a country with more than two nations to 

exchange goods and services. 

 

(ii) “Small-Scale Industries require a shield against large scale industries.” 

In the light of the given statement, elaborate the steps initiated by the government                               

in this direction. 

Ans. The steps initiated by government to shield the small-scale industries (SSIs) were: 

• The production of several products was reserved for SSIs, depending upon their 

ability to manufacture these goods.  

• They were given concession such as lower excise duty and bank loans at lower 

interest rates.           (To be marked as a whole) 

 

 

1 ½  

 

 

 

 

1 ½  
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34. Read the following text carefully: 

 

Agro-startups and rural enterprises are becoming increasingly vital for rural development in 

India. They address the critical challenges faced by rural sector in India. These ventures bring 

in technological innovations such as precision farming, IT-based monitoring system and 

data-driven decision-making tools that enhance productivity and resource efficiency. 

 

By streamlining supply chains and creating direct market linkages, they ensure better pricing 

for farmers and reduce dependency on traditional intermediaries. Such enterprises contribute 

actively to employment generation in the rural areas. The government has demonstrated a 

continuous policy and financial support for agri-startups and entrepreneurs through various 

programs like RKVY-RAFTAAR, the Agri-infrastructure fund and Agri-SURE.  

 

On the basis of given text and common understanding, answer the following questions: 

 

(a) Explain, how agro-startups address the critical challenges faced by the agricultural sector.  

Ans. Agro-startups address the agricultural sector challenges by: 

• technical innovation such as precision farming, IT-based monitoring system and 

data-driven decision making tools.  

• streamlining supply chains and creating direct market linkages which may lead 

to better pricing.           (To be marked as a whole) 

 

(b) Comment on the role of government in supporting agro-startups and entrepreneurs in 

India. 

Ans. The government has demonstrated continuous policy and financial support for 

agri-startups and entrepreneurs through various programs like RKVY-RAFTAAR, 

the Agri-infrastructure fund, and Agri-SURE.       (To be marked as a whole) 
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Marking Scheme Hindi Medium 

Strictly Confidential 

(For Internal and Restricted use only) 

Senior School Certificate Examination,2025 

ECONOMICS (SUBJECT CODE – 030) 

(PAPER CODE – 58/1/1) 

General Instructions: - 

1  You are aware that evaluation is the most important process in the actual and correct 

assessment of the candidates. A small mistake in evaluation may lead to serious problems 

which may affect the future of the candidates, education system and teaching profession. 

To avoid mistakes, it is requested that before starting evaluation, you must read and 

understand the spot evaluation guidelines carefully. 

2  “Evaluation policy is a confidential policy as it is related to the confidentiality of the 

examinations conducted, Evaluation done and several other aspects. Its’ leakage to 

public in any manner could lead to derailment of the examination system and affect 

the life and future of millions of candidates. Sharing this policy/document to anyone, 

publishing in any magazine and printing in News Paper/Website etc may invite action 

under various rules of the Board and IPC.” 

3  Evaluation is to be done as per instructions provided in the Marking Scheme. It should not 

be done according to one’s own interpretation or any other consideration. Marking Scheme 

should be strictly adhered to and religiously followed. However, while evaluating, 

answers which are based on latest information or knowledge and/or are innovative, 

they may be assessed for their correctness otherwise and due marks be awarded to 

them. In Class XII, while evaluating competency-based questions, please try to 

understand given answer and even if reply is not from marking scheme but correct 

competency is enumerated by the candidate, due marks should be awarded.  

4  The Marking scheme carries only suggested value points for the answers. These are in the 

nature of Guidelines only and do not constitute the complete answer. The students can 

have their own expression and if the expression is correct, the due marks should be 

awarded accordingly. 

5  The Head-Examiner must go through the first five answer books evaluated by each 

evaluator on the first day, to ensure that evaluation has been carried out as per the 

instructions given in the Marking Scheme. If there is any variation, the same should be zero 

after delibration and discussion. The remaining answer books meant for evaluation shall 

be given only after ensuring that there is no significant variation in the marking of individual 

evaluators. 

6  Evaluators will mark( √ ) wherever answer is correct. For wrong answer CROSS ‘X” be 

marked. Evaluators will not put right (✓)while evaluating which gives an impression that 

answer is correct and no marks are awarded. This is most common mistake which 

evaluators are committing. 

7  If a question has parts, please award marks on the right-hand side for each part. Marks 

awarded for different parts of the question should then be totalled up and written in the left-

hand margin and encircled. This may be followed strictly. 
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8  If a question does not have any parts, marks must be awarded in the left-hand margin and 

encircled. This may also be followed strictly. 

9  If a student has attempted an extra question, answer of the question deserving more marks 

should be retained and the other answer scored out with a note “Extra Question”. 

10  No marks to be deducted for the cumulative effect of an error. It should be penalized only 

once. 

11  A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the 

answer deserves it. 

12  Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours 

every day and evaluate 20 answer books per day in main subjects and 25 answer books 

per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view 

of the reduced syllabus and number of questions in question paper. 

13  Ensure that you do not make the following common types of errors committed by the 

Examiner in the past:-  

● Leaving answer or part thereof unassessed in an answer book. 
● Giving more marks for an answer than assigned to it. 
● Wrong totaling of marks awarded on an answer. 
● Wrong transfer of marks from the inside pages of the answer book to the title page. 
● Wrong question wise totaling on the title page.  
● Wrong totaling of marks of the two columns on the title page. 
● Wrong grand total. 
● Marks in words and figures not tallying/not same. 
● Wrong transfer of marks from the answer book to online award list. 
● Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is 

correctly and clearly indicated. It should merely be a line. Same is with the X for 
incorrect answer.) 

● Half or a part of answer marked correct and the rest as wrong, but no marks awarded.  

14  While evaluating the answer books if the answer is found to be totally incorrect, it should 

be marked as cross (X) and awarded zero (0)Marks. 

15  Any un assessed portion, non-carrying over of marks to the title page, or totaling error 

detected by the candidate shall damage the prestige of all the personnel engaged in the 

evaluation work as also of the Board. Hence, in order to uphold the prestige of all 

concerned, it is again reiterated that the instructions be followed meticulously and 

judiciously. 

16  The Examiners should acquaint themselves with the guidelines given in the “Guidelines 

for spot Evaluation” before starting the actual evaluation. 

17  Every Examiner shall also ensure that all the answers are evaluated, marks carried over to 

the title page, correctly totalled and written in figures and words. 

18  The candidates are entitled to obtain photocopy of the Answer Book on request on payment 

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head 

Examiners are once again reminded that they must ensure that evaluation is carried out 

strictly as per value points for each answer as given in the Marking Scheme. 
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अंकन योजना हिन्दी माध्यम 

सीननयर सू्कल सनटिनिकेट परीक्षा, 2025  

अर्िशास्त्र ( निषय कोड –030) 

[प्रश्न-पत्र कोड : 58/1/1] 

अनिकतम अंक : 80 

प्र.सं अपेनक्षत उत्तर/मूल्य न ंदु अंक 

खण्ड - क 

(समनि अर्िशास्त्र) 

1. भुगतान संतुलन के चालू खाते लेनदेन के संदभभ में, ननम्ननलखखत में से असत्य कथन की पहचान करें :                                                           

(सही निकल्प का चयन करें ) 

निकल्प : 

(A) िसु्तओ ंऔर सेिाओ ंके ननयाभत को के्रनिट मदो ंके रूप में दर्भ नकया र्ाता है। 

(B) िसु्तओ ंऔर सेिाओ ंके आयात को िेनिट मदो ंके रूप में दर्भ नकया र्ाता है। 

(C) सभी हस्तांतरण भुगतान िेनिट मदो ंके रूप में दर्भ नकए र्ाते हैं। 

(D) सभी हस्तांतरण प्राखियााँ िेनिट मदो ंके रूप में दर्भ की र्ाती हैं। 

उत्तर - (D) सभी हस्ांतरण प्राप्तियााँ डेन ट मदो ंके रूप में दजि की जाती हैं। 

 

 

 

 

 

 

 

 

1 

2. कॉलम-I ि कॉलम-II में दी गई मदो ंमें से सही युग्म का चयन कीनर्ए : 

       कॉलम-I      कॉलम-II 

(a) संपनि से आय (i) िृद्धािस्था पेंशन 

(b) उद्यमशीलता से आय (ii) लाभ 

(c) नमनित आय (iii) ननयोक्ता द्वारा प्रदि नकराया मुक्त आिास 

(d) कमभचाररयो ंका मुआिर्ा (iv) पंूर्ी पर ब्यार् 

निकल्प : 

(A) (a) - (i)                       (B) (b) - (ii) 

(C) (c) - (iii)                       (D) (d) - (iv) 

उत्तर - (B) (b) - (ii) 
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3. ननम्ननलखखत कथनो ंका ध्यानपूिभक अध्ययन करें  : 

कर्न 1 : प्रिंनित नतरती निननमय दर प्रणाली खस्थर ि नम्य निननमय दर प्रणाली का एक समामेलन है। 

कर्न 2 : प्रिंनित तैरती निननमय दर प्रणाली को "हाइनिि प्रणाली" के रूप में भी र्ाना र्ाता है। 

नदए गए कथनो ंके आलोक में, ननम्ननलखखत में से सही निकल्प का चयन कीनर्ए : 

(A) कथन 1 सत्य है और कथन 2 असत्य है। 

(B) कथन 1 असत्य है और कथन 2 सत्य है। 

(C) कथन 1 और 2 दोनो ंसत्य हैं। 

(D) कथन 1 और 2 दोनो ंअसत्य हैं। 

उत्तर - (C) कर्न 1 और 2 दोनो ंसत्य हैं। 

 

 

 

 

 

 

 

 

 

1 

4. "इरफान (एक छात्र) ने अपनी कॉलेर् की फीस के नलए ₹ 80,000 का ऋण नलया है। िह स्नातक होने के छह 

माह िाद ऋण चुकाना प्रारंभ करने की योर्ना िना रहा है, नर्से िह 10 िर्भ की अिनि में चुकाएगा।" 

उपरोक्त गद्य के आिार पर मुद्रा के नननदभष्ट कायभ की पहचान करें।  (सही निकल्प का चयन करें ) 

निकल्प: 

(A) निननमय का माध्यम                        (B) खाते की इकाई 

(C) स्थनगत भुगतान का मानक               (D) मूल्य संचय 

उत्तर - (C) स्थनित भुितान का मानक 

 

 

 

 

 

 

1 

5. मान लीनर्ए, नकसी अथभव्यिस्था का िचत िक्र ₹ 50 करोड़ के ऋणात्मक मूल्य पर अिरोि (intercept) िनता 

है। अथभव्यिस्था में, आय में िृखद्ध का 20% िचत के रूप में रखा र्ाता है। 

उपरोक्त संदभभ के आलोक में, ननिेश गुणक (K) के मूल्य की पहचान करें। 

निकल्प: 
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(A) 2                              (B) 5 

(C) 10                             (D)  (∞) अनंत 

उत्तर - (B) 5 

 

 

1 

6. ननम्ननलखखत कथनो-ंअनभकथन (A) ि कारण (R) का अध्ययन करें। नीचे नदए गए निकल्पो ंमें से सही निकल्प 

का चयन करें  : 

अनभकर्न (A) : सािभर्ननक िसु्तएाँ  िे िसु्तएाँ  हैं, नर्नका उपभोग र्नता द्वारा सामूनहक रूप से नकया र्ाता 

है। 

कारण (R) : सािभर्ननक िसु्तएाँ  िनहषृ्कत एिं प्रनतदं्वद्वात्मक प्रकृनत की होती हैं। 

निकल्प : 

(A) अनभकथन (A) ि कारण (R) दोनो ंसत्य हैं तथा कारण (R), अनभकथन (A) की सही व्याख्या है। 

(B) अनभकथन (A) ि कारण (R) दोनो ंसत्य हैं, लेनकन कारण (R), अनभकथन (A) की सही व्याख्या नही ं

करता है। 

(C) अनभकथन (A) सत्य है, लेनकन कारण (R) असत्य है। 

(D) अनभकथन (A) असत्य है, लेनकन कारण (R) सत्य है। 

उत्तर - (C) अनभकर्न (A) सत्य है, लेनकन कारण (R) असत्य है। 
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7. मान लीनर्ए, औसत उपभोग प्रिृनि (APC) का मूल्य 0.8 है तथा राष्टर ीय आय ₹ 4,000 करोड़ है, तो िचत का 

मूल्य ₹ ______ करोड़ होगा।    (सही निकल्प द्वारा ररक्त स्थान की पूनतभ करें।) 

निकल्प : 

(A) 100                               (B) 200 

(C) 500                                (D) 800 

उत्तर - (D) 800 

 

 

 

 

 

1 

8. िानणखिक िैंको ंके संदभभ में, ननम्ननलखखत में से कौन से कथन सत्य हैं ?           (सही निकल्प का चयन करें।) 

(I) िैंको ंके नलए र्माएाँ  देनदाररयााँ होती हैं। 

(II) िे अथभव्यिस्था में साख सृर्क होते हैं। 

(III) िे आम र्नता से र्मा स्वीकार करते हैं। 

(IV) िे भारतीय ररज़िभ िैंक की ओर से र्मा स्वीकार करते हैं। 

निकल्प : 

(A) (I), (II) ि (III)                       (B) (II) ि (III) 

(C) (I) ि (II)                               (D) (I) ि (IV) 

उत्तर - (A) (I), (II) ि (III) 
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9. यनद कोई राष्टर  ₹ 600 करोड़ का माल ननयाभत करता है तथा ₹ 450 करोड़ का माल आयात करता है, तो राष्टर  

के व्यापार संतुलन का मूल्य ₹ ______ करोड़ का ______ होगा। 

(A) 150, घाटा                              (B) 150, अनिशेर् 

(C) 1,050, घाटा                            (D) 1,050, अनिशेर्        

उत्तर - (B) 150, अनिशेष 

 

 

 

 

1 

10. कॉलम-I ि कॉलम-II में नदए गए पदो ंके समूह में से सही युग्म का चयन करें  : 

कॉलम-I कॉलम-II 

(a) गैर-कर रार्स्व (i) िसु्त ि सेिा कर 

(b) अप्रत्यक्ष कर (ii) मुफ्त खोर (Free-rider) 

(c) पंूर्ीगत व्यय (iii) ऋण 

(d) ननर्ी िसु्तएाँ  (iv) प्रनतदं्वद्वात्मक प्रकृनत 

निकल्प: 

(A) (a) - (i)                              (B) (b) - (ii) 

(C) (c) - (iii)                            (D) (d) - (iv) 

उत्तर - (D) (d) - (iv) 

 

 

 

 

 

 

 

 

 

1 

11. 

(a) 
सािन लागत पर शुद्ध मूल्य िृखद्ध (NVAFC) के मूल्य की गणना करें  : 
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क्रम सं. मदें रानश (₹ करोड़ में) 

(i) पररचालन अनिशेर् 3,740 

(ii) रहनतया (unsold stock) में िृखद्ध 600 

(iii) निक्री 10,625 

(iv) कचे्च माल का क्रय 2,625 

(v) स्थायी पूाँर्ी का उपभोग 500 

(vi) उपदान 400 

(vii) अप्रत्यक्ष कर 1,200 

उत्तर -  

सािन लाित पर शुद्ध मूल्य िृप्तद्ध (NVAFC) = (iii) + (ii) – (iv) – (v) – {(vii) – (vi)} 

        = 10,625 + 600 – 2,625 – 500 – {1,200 – 400} 

        = ₹ 7,300 करोड़  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1 ½  

1 

½  

 अर्िा 3 

(b) निदेशो ंसे प्राि शुद्ध सािन आय (NFIA) तथा शुद्ध ननयाभत (X - M) के मध्य अंतर स्पष्ट करें। 

उत्तर - निदेश से शुद्ध कारक आय (NFIA), शेष निश्व से प्राि कारक आय और शेष निश्व को भुितान 

की िई कारक आय के मध्य का अंतर है।  

ज नक;  

शुद्ध ननयाित (X-M) से तात्पयि िसु्ओ ंि सेिाओ ंके ननयाित के मूल्य और िसु्ओ ंि सेिाओ ंके आयात 

के मूल्य के मध्य के अंतर से है। 

 

1 ½  

 

 

1 ½  

  3 

12. "सरकार ने देश के निनभन्न भागो ंमें पयभटन को प्रोत्सानहत करने के नलए 'अतुल्य भारत' अनभयान प्रारंभ नकया 

था।" 

उपरोक्त अनभयान के भारतीय निदेशी मुद्रा भंिार तथा भुगतान संतुलन पर पड़ने िाले प्रभािो ंको निस्तार से 

उले्लखखत करें। 

उत्तर: अतुल्य भारत अनभयान के शुभारंभ से पयिटन उद्योि को निदेशी मुद्रा के अंतिािह के निषय में 

कािी लाभ हुआ है। निदेशी मुद्रा का यह अंतिािह, भुितान संतुलन (BOP) के चालू खाते के के्रनडट पक्ष 

में दजि नकया जाता है। इससे न केिल भारत के निदेशी मुद्रा भंडार में िृप्तद्ध हुई है,  प्ति देश के भुितान 

संतुलन की प्तस्थनत में भी सुिार हुआ है।    (पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

 

 

 

 

3 

13. 

 
"आयुष्मान भारत योर्ना के अंतगभत सरकार समार् के ननिभन िगभ को ननिः शुल्क नचनकत्सा उपचार उपलब्ध 

कराती है।" 

उपरोक्त कथन में इंनगत िर्ट व्यय की प्रकृनत ि उसके उदे्दश्य को पहचान ि व्याख्या करें। 

उत्तर: नदया िया कर्न राजस्व व्यय को दशािता है। राजस्व व्यय िह व्यय होता है, नजससे न तो सरकार 

की पररसंपनत्तयो ंका ननमािण होता है और न ही सरकार की देनदाररयो ंमें कमी होती है।  

सरकारी  जट का संकेनतत उदे्दश्य 'पुनः आ ंटन कायि' है। आयुष्मान भारत योजना के अंतिित ननः शुि 

नचनकत्सा उपचार का उदे्दश्य अर्िव्यिस्था में आय के नितरण में समता लाना है। समाज के ननििन ििि 

को दी जाने िाली ऐसी सेिाएाँ  उनके नचनकत्सा व्यय को कम करती हैं, नजससे उनके हार्ो ंमें अनिक 

प्रयोज्य आय  चती है। इस प्रकार िनी और ननििन के  ीच की खाई को पाटा जाता है। 

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

 

 

 

4 

 

 

14. मान लीनर्ए, नकसी अथभव्यिस्था में प्राथनमक र्मा ₹ 500 है, यनद आरनक्षत अनुपात 25% है। िैंनकंग प्रणाली 

द्वारा सृनर्त कुल र्मा रानशयो ंतथा कुल उिार (ऋण) का अनुमान लगाएं।  

उत्तर: नदया िया है,  

प्रार्नमक जमा = ₹ 500 

आरनक्षत अनुपात = 25% 
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कुल जमा = प्रार्नमक जमा x 
𝟏

आरनक्षत अनुपात 
 

    = 500 x 
𝟏

𝟎.𝟐𝟓
 

    = ₹ 2,000 

कुल उिार (ऋण) = कुल जमा - प्रार्नमक जमा 

     = 2,000 - 500 

     = ₹ 1,500 

1 

 

½  

½ 

1 

½  

½  
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15. 

(a) 

 

 

एक अथभव्यिस्था में; C = 200 + 0.75 Y (र्हााँ C = उपभोग व्यय है, तथा Y = राष्टर ीय आय है) 

ननिेश व्यय = ₹ 4,000 करोड़ है। 

ननम्ननलखखत की गणना करें : 

(i) आय का संतुलन स्तर 

(ii) आय के संतुलन स्तर पर कुल उपभोग व्यय 

उत्तर: नदया िया है, 

   C = 200 + 0.75 Y 

ननिेश व्यय = ₹ 4,000 करोड़ 

जैसा नक हम जानते हैं, 

(i) आय के संतुलन स्र पर, Y= C + I 

         Y= 200 + 0.75Y + 4,000 

         Y= ₹ 16,800 करोड़ 

(ii) आय के संतुलन स्र पर कुल उपभोि व्यय = 200 + 0.75 Y 

              = 200 + 0.75 (16,800) 

              = ₹ 12,800 करोड़ 

 

 

 

 

 

 

 

 

 

 

1 ½  

1   

½  

 

 

½  

½  
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(b) प्रत्यानशत िचत के प्रत्यानशत ननिेश से अनिक होने की खस्थनत में समायोर्न तंत्र की व्याख्या करें। 

उत्तर: ज  प्रत्यानशत  चत, प्रत्यानशत ननिेश से अनिक होती है, तो इसका अर्ि है नक , िमों द्वारा 

अपेनक्षत उपभोि से कम उपभोि करने की योजना  ना रहे हैं।  

इससे मालसूची (inventory) का अनपेनक्षत संचय होिा। मालसूची के िांनित स्र पर लाने के नलए, 

उत्पादक, अर्िव्यिस्था में उत्पादन को कम कर सकते हैं। यह प्रनक्रया त  तक जारी रहेिी, ज  तक 

संतुलन  हाल न हो जाए।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

 

4 

16. 

 
ननम्ननलखखत गद्य का ध्यानपूिभक अध्ययन करें : 

कें द्रीय खाद्य ि उपभोक्ता मामले के मंत्री ने कहा नक, सरकार ने खाद्य िसु्तओ ंकी खुदरा (retail) कीमतो ंको 

ननयंनत्रत करने के नलए निगत िर्ों में कई सनक्रय कदम उठाए हैं। उन्ोनें कहा नक, सरकार का लक्ष्य राष्टर  की 

आनथभक िृखद्ध से समझौता नकए निना मुद्रास्फीनत को ननयंत्रण में रखना है। निंिर 2023 में खुदरा मुद्रास्फीनत 

5.55% के तीन माह के उच्चतम स्तर पर पहाँच गई, र्ो नक खाद्य पदाथों की िढ़ती कीमतो ंके कारण है। अगस्त 

2023 में मुद्रास्फीनत में नगरािट आई थी, र्ि यह 6.83% पर पहाँच गई थी। आिश्यक िसु्तओ ं के थोक 

(wholesale) ि खुदरा (retail) मूल्यो ंपर कड़ी ननगरानी रखने हेतु कें द्र सरकार ने 140 नए मूल्य ननगरानी कें द्र 

स्थानपत नकए हैं। 

सरकार ने गेहाँ, टूटे चािल, गैर-िासमती सफेद चािल, प्यार् आनद कई खाद्य पदाथों के ननयाभत पर प्रनतिंि 

लगा नदया है। घरेलू आपूनतभ को प्रोत्सानहत करने के नलए तथा मूल्य िृखद्ध को ननयंनत्रत करने के नलए सरकार ने 

नतलहन ि दलहन पर आयात शुल्क भी कम कर नदया है। 

उपरोक्त गद्य ि समान्य ज्ञान के आिार पर ननम्ननलखखत प्रश्ो ंके उिर दें : 

 

(a) सरकार द्वारा स्थानपत नए मूल्य ननगरानी कें द्रो ंकी संख्या िताएं। 

उत्तर: केन्द्र सरकार द्वारा 140 नए मूल्य ननिरानी केन्द्र स्थानपत नकए िए हैं। 

 

(b) घरेलू आपूनतभ को प्रोत्सानहत करने ि मूल्यो ंमें कमी लाने के नलए सरकार द्वारा उठाए गए नकन्ी ंदो 

सनक्रय उपायो ंका उले्लख करें। 
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उत्तर: घरेलू आपूनति को प्रोत्सानहत करने और मूल्यो ंमें कमी लाने के नलए सरकार द्वारा उठाए िए दो 

सनक्रय उपाय ननम्न हैं: 

●  हुत से खाद्य पदार्ों के ननयाित पर प्रनत ंि। 

● नतलहन और दलहन पर आयात शुि में कमी। 

 

(c) मुद्रास्फीनत को ननयंनत्रत करने के नलए प्रयुक्त नकसी एक मौनद्रक उपाय की व्याख्या करें। 

उत्तर: मुद्रास्फीनत को ननयंनत्रत करने के नलए, कें द्रीय  ैंक रेपो दर में िृप्तद्ध कर सकता है। 

रेपो दर में िृप्तद्ध िानणप्तज्यक  ैंको ंको अपनी ऋण दरो ंमें िृप्तद्ध करने के नलए मज ूर करेिी, नजससे 

ऋण की दरें  महंिी हो जाएंिी। इस प्रकार, आम जनता द्वारा उिार लेने को हतोत्सानहत नकया जाएिा 

और इसके पररणामस्वरूप समग्र मांि में कमी आएिी। इस प्रकार, अर्िव्यिस्था में मुद्रास्फीनत की 

समस्या को ननयंनत्रत नकया जा सकता है।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

(अन्य कोई प्रासंनिक उपाय के नलया भी अंक प्रदान नकए जाए) 

 

 

1 

1 
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17. 

(a)  

 

 

 

 

 

 

(i) व्यय निनि द्वारा राष्टर ीय आय की गणना करते समय अपनाई र्ाने िाली नकन्ी ंदो साििाननयो ंकी व्याख्या 

करें। 

उत्तर: व्यय निनि द्वारा रािर ीय आय का अनुमान लिाते समय ननम्न दो साििाननयााँ  रती जानी चानहए: 

● मध्यिती िसु्ओ ंपर नकए िए व्यय को सप्तिनलत नही ंनकया जाना चानहए क्ोनंक इससे दोहरी 

िणना की समस्या उत्पन्न होिी। 

● पुरानी िसु्ओ ंके क्रय पर नकए िए व्यय को सप्तिनलत नही ंनकया जाना चानहए क्ोनंक यह 

चालू िषि में िसु्ओ ंऔर सेिाओ ंके प्रिाह में सप्तिनलत नही ंहोता है। 

(अन्य कोई प्रासंनिक साििानी के नलया भी अंक प्रदान नकए जाए) 

 

(ii) "उच्च सकल घरेलू उत्पाद (GDP) का अथभ सदैि अथभव्यिस्था में िसु्तओ ंकी प्रनत व्यखक्त अनि-उपलब्धता 

होता है।" 

उपरोक्त कथन का उस देश के लोगो ंके कल्याण के सूचकांक के रूप में समथभन अथिा खंिन करें। 

उत्तर: नदए िए कर्न का खंडन नकया जाता है। ऐसा आिश्यक नही ंहै नक, सकल घरेलू उत्पाद (GDP) 

में हुई िृप्तद्ध, समाज के सभी ििों के कल्याण को समान रूप से प्रभानित करे। ऐसा इसनलए है नक, 

GDP में हुई िृप्तद्ध कुि ही हार्ो ंमें कें नद्रत हो। अन्य व्यप्तियो ंके नलए, आय में कमी हो सकती है नजसके 

कारण प्रनत व्यप्ति िसु्ओ ंकी उपलब्धता में िृप्तद्ध नही ंभी हो सकती है। ऐसी प्तस्थनत में, जीडीपी में 

िृप्तद्ध के  ािजूद पूणि अर्िव्यिस्था के कल्याण में िृप्तद्ध नही ंहो सकती है।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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(b) (i) उपयुक्त उदाहरणो ंद्वारा, स्टॉक ि प्रिाह चरो में अंतर स्पष्ट करें। 

उत्तर: स्टॉक चर उन चरो ंको संदनभित करते हैं, नजन्हें समय के एक निशेष न ंदु पर मापा जाता है। 

उदाहरण: रािर ीय संपनत्त 

प्रिाह चर उन चरो ंको संदनभित करते हैं, नजन्हें समय की एक अिनि के दौरान मापा जाता है। 

उदाहरण: रािर ीय आय 

(कोई अन्य प्रासंनिक उदाहरण के नलया भी अंक प्रदान नकए जाए) 

 

(ii) राष्टर ीय आय (NNPFC) का अनुमान लगाने की आय निनि के अनुसार 'लाभ' के घटको ंकी व्याख्या करें। 

उत्तर: रािर ीय आय (NNPFC) का अनुमान लिाने की आय निनि के अनुसार ‘लाभ’ के घटक: 

• ननिम कर: ननिमो ं(या ननजी के्षत्र की िमों) द्वारा अनजित आय पर लिाए िए कर। 

• अितररत लाभ: ननजी और सरकारी स्वानमत्व िाली िमों द्वारा अनजित लाभ का िह भाि जो 

उत्पादन के कारको ंके  ीच नितररत नही ंनकया जाता है। 

• लाभांश: शेष/ चा हुआ लाभ जो शेयरिारको ं(पंूजी के मानलको)ं के मध्य नितररत नकया जाता 

है। 

 

1 

½  

1 

½ 
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खंड – ख 

(भारतीय आनर्िक निकास) 

18. चीन में गे्रट लीप फॉरििभ का प्राथनमक कें द्र ______ के्षत्रक था।  (सही निकल्प द्वारा ररक्त स्थान की पूनतभ करें।) 

निकल्प: 

(A) कर                     (B) औद्योनगक 

(C) नििीय                  (D) नशक्षण 

उत्तर - (B) औद्योनिक 

 

 

 

 

1 

19. ननम्ननलखखत नचत्र का अध्ययन करें : 

 
उन निगत घटनाओ ंकी पहचान ि चयन करें , नर्समें संसािनो ंकी मााँग उनकी आपूनतभ से अनिक हो गई है। 

निकल्प: 

(A) आनथभक निकास                      (B) पयाभिरणीय संकट 

(C) तकनीकी उन्ननत                       (D) सांसृ्कनतक निकास 

उत्तर - (B) पयाििरणीय संकट 

नोट: ननम्ननलप्तखत प्रश्न केिल दृनि ानित परीक्षानर्ियो ंके नलए प्रश्न संख्या 19 के स्थान पर है। 

पहचान करें , ननम्ननलखखत में से कौन सी िारणीय निकास की रणनीनतयो ंमें से एक नही ंहै। 

निकल्प: 

(A) ऊर्ाभ के गैर-परंपरागत स्रोतो ंका उपयोग 

(B) पररिहन के नलए र्ीिाश्म ईंिन का उपयोग 

(C) पारंपररक ज्ञान का उपयोग 

(D) रै्निक कम्पोस्ट खाद का उपयोग 

उत्तर - (B) पयाििरण के नलए जीिाश्म ईिंन का उपयोि 
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20. ननम्ननलखखत कथनो ंका ध्यानपूिभक अध्ययन करें : 

कर्न-1: कायभरत व्यखक्त ननयनमत िेतनभोगी कमभचारी या आकखिक कमभचारी हो सकते हैं। 

कर्न-2: भारत के ग्रामीण के्षत्रो ंमें ननयनमत िेतनभोगी रोज़गारी रोज़गार का एक प्रमुख स्रोत हैं। 

नदए गए कथनो ंके आलोक में, ननम्ननलखखत में से सही निकल्प का चयन कीनर्ए: 

(A) कथन 1 सत्य है और कथन 2 असत्य है। 

(B) कथन 1 असत्य है और कथन 2 सत्य है। 

(C) कथन 1 और 2 दोनो ंसत्य हैं। 

(D) कथन 1 और 2 दोनो ंअसत्य हैं। 

उत्तर - (A) कर्न 1 सत्य है और कर्न 2 असत्य है। 
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21. नीचे नदए गए कॉलम-I ि कॉलम-II में नदए गए पदो ंमें से सही युग्म का चयन करें : 

         कॉलम-I 

(i) उपदान 

 

(ii) भूनम सीमा ननिाभरण 

(iii) लघु उद्योग 

(iv) पंचिर्ीय योर्ना के उदे्दश्य के रूप में 

आिुननकीकरण 

            कॉलम-II 

(a) आयात की र्ा सकने िाली िसु्तओ ंकी 

अनिकतम सीमा 

(b) IPR 1956 का तत्व 

(c) रु्ताई करने िालो ंके नलए भूनम 

(d) सामानर्क दृनष्टकोण में पररितभन 

 

निकल्प: 

(A) (i) – (a)                       (B) (ii) – (b) 

(C) (iii) – (c)                     (D) (iv) – (d) 

उत्तर - (D) (iv) – (d) 

 

 

 

 

 

 

 

 

 

 

 

 

1 
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22. ‘यह अल्पकानलक िेरोज़गारी है, र्ो लोगो ंके एक नौकरी से दूसरी नौकरी में र्ाने के कारण उत्पन्न होती है।’ 

दी गई पररभार्ा के आिार पर इंनगत िेरोज़गारी के प्रकार की पहचान कीनर्ए। 

(सही निकल्प का चयन करें ) 

निकल्प: 

(A) प्रच्छन्न िेरोज़गारी                             (B) मौसमी िेरोज़गारी 

(C) खुली िेरोज़गारी                              (D) घर्भणात्मक िेरोज़गारी 

उत्तर - (D) घषिणात्मक  ेरोज़िारी 
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23. ननम्ननलखखत कथनो-ंअनभकथन (A) ि कारण (R) का ध्यानपूिभक अध्ययन करें। नीचे नदए गए निकल्पो ंमें से 

सही निकल्प का चयन करें : 

अनभकर्न (A): आनथभक सुिारो ंसे पूिभ, चीन द्वारा सामानर्क संरचना पर सािभर्ननक ननिेश के पररणामस्वरूप 

िेहतर मानि निकास संकेतक (HDI) प्राि हए थे। 

कारण (R): चीन कई मानि निकास संकेतको ं(HDI) में भारत ि पानकस्तान से आगे है। 

निकल्प: 

(A) अनभकथन (A) ि कारण (R) दोनो ंसत्य हैं तथा कारण (R), अनभकथन (A) की सही व्याख्या है। 

(B) अनभकथन (A) ि कारण (R) दोनो ंसत्य हैं, लेनकन कारण (R), अनभकथन (A) की सही व्याख्या नही ं

करता है। 

(C) अनभकथन (A) सत्य है, लेनकन कारण (R) असत्य है। 

(D) अनभकथन (A) असत्य है, लेनकन कारण (R) सत्य है। 

उत्तर - (B) अनभकर्न (A) ि कारण (R) दोनो ंसत्य हैं, लेनकन कारण (R), अनभकर्न (A) की सही 

व्याख्या नही ंकरता है। 
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24. ननम्ननलखखत नचत्र का ध्यानपूिभक अध्ययन करें : 

 
उस व्यापार पद्धनत की पहचान करें , नर्सने निदेशी िसु्तओ ंको घरेलू उत्पादन से सफलतापूिभक प्रनतस्थानपत 

कर नदया है। 

निकल्प: 

(A) ननयाभत संििभन                          (B) ननयाभत प्रनतस्थापन 

(C) आयात प्रसार                           (D) आयात प्रनतस्थापन 

उत्तर - (D) आयात प्रनतस्थापन 

नोट: ननम्ननलप्तखत प्रश्न केिल दृनिहीन परीक्षानर्ियो ंके नलए प्रश्न संख्या 24 के स्थान पर है। 

______उस व्यापार नीनत को संदनभभत करता है, नर्सका उदे्दश्य िसु्तओ ंके घरेलू उत्पादन को प्रोत्सानहत 

करके आयानतत िसु्तओ ंपर ननभभरता को कम करना है। 

निकल्प: 

(A) ननयाभत संििभन                       (B) ननयाभत प्रनतस्थापन 

(C) आयात प्रनतस्थापन                 (D) आयात प्रसार 

उत्तर - (C) आयात प्रनतस्थापन 
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25. कॉलम-I में नदए गए ननम्ननलखखत पदो ंका कॉलम-II में नदए गए अथभ से नमलान करें : 

     कॉलम-I      कॉलम-II 

(a) मानि निकास संकेतक (i) कानून का शासन 

(b) र्नसांख्यकीय संकेतक (ii) संिैिाननक संरक्षण 

(c) निशेर् आनथभक के्षत्र (iii) अनतररक्त आनथभक गनतनिनियो ंका सृर्न 

(d) कमू्यन प्रणाली (iv) सामूनहक औद्योगीकरण 
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निकल्प: 

(A) (a) – (i)                       (B) (b) – (ii) 

(C) (c) – (iii)                     (D) (d) – (iv) 

उत्तर - (C) (c) – (iii) 

 

 

 

1 

26. ननम्ननलखखत कथनो-ंअनभकथन (A) ि कारण (R) का ध्यानपूिभक अध्ययन करें। नीचे नदए गए निकल्पो ंमें से 

सही निकल्प का चयन करें : 

अनभकर्न (A): मानि पंूर्ी ननमाभण आनथभक गनतनिनियो ंमें र्नसंख्या की भागीदारी दर में िृखद्ध करता है तथा 

आनथभक निकास को प्रोत्सानहत करता है। 

कारण (R): भागीदारी दर नकसी राष्टर  की उत्पादन प्रनक्रया में संलग्न व्यखक्तयो ंके प्रनतशत को संदनभभत करती 

है। 

निकल्प: 

(A) अनभकथन (A) ि कारण (R) दोनो ंसत्य हैं तथा कारण (R), अनभकथन (A) की सही व्याख्या है। 

(B) अनभकथन (A) ि कारण (R) दोनो ंसत्य हैं, लेनकन कारण (R), अनभकथन (A) की सही व्याख्या नही ं

करता है। 

(C) अनभकथन (A) सत्य है, लेनकन कारण (R) असत्य है। 

(D) अनभकथन (A) असत्य है, लेनकन कारण (R) सत्य है। 

उत्तर - (B) अनभकर्न (A) ि कारण (R) दोनो ंसत्य हैं, लेनकन कारण (R), अनभकर्न (A) की सही 

व्याख्या नही ंकरता है। 
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27. भारत ननम्ननलखखत में से नकस के्षत्रीय/िैनिक आनथभक समूह का सदस्य नही ंहै? 

(A) निक्स (BRICS)                        (B) साकभ  (SAARC) 

(C) G-20                                     (D) G-7 

उत्तर - (D) G-7 

 

 

 

1 

28. 

(a) 

 

 

 

 

"निगत समयािनि में सहकारी सनमनतयो ंको झटका लगा है।" 

उपरोक्त कथन का िैि स्पष्टीकरण द्वारा औनचत्य नसद्ध करें। 

उत्तर: सहकारी सनमनतयो ंने नकसानो ंको  ाजार में अपनी उपज के नलए उनचत मूल्य प्राि करने में 

सहायता की है। हालााँनक, निित समयािनि में, उन्हें कई चुनौनतयो ंका सामना करना पड़ा है, नजनमें 

ननम्ननलप्तखत प्रमुख हैं: 

• कृषक सदस्यो ंका अपयािि समािेशन 

• निपणन और प्रसंस्करण सहकारी सनमनतयो ंके  ीच अपयािि सं ंि, 

• अकुशल नित्तीय प्र ंिन     (पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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 अर्िा  

(b) शहरी के्षत्रो ंकी तुलना में ग्रामीण के्षत्रो ंमें ननयनमत िेतनभोगी कमभचाररयो ंकी कम संख्या के पीछे के कारणो ंकी 

व्याख्या करें। 

उत्तर: भारत में, शहरी के्षत्रो ंकी तुलना में ग्रामीण के्षत्रो ंमें ननयनमत िेतनभोिी कमिचाररयो ंकी संख्या कम 

है, क्ोनंक: 

• अनिकांश ग्रामीण कायि ल प्रत्यक्ष/अप्रत्यक्ष रूप से कृनष और अन्य सं ंनित िनतनिनियो ंमें 

सप्तिनलत है। 

• ननयनमत िेतनभोिी रोजिार के अिसरो ंके नलए कौशल और योग्यता की आिश्यकता होती है, 

जो सामान्यतः  ग्रामीण जनसंख्या के नलए सुलभ नही ंहोती है।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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29. 

 
मानि पंूर्ी ि आनथभक निकास के मध्य संिंि स्थानपत करें। 

उत्तर: मानि पंूजी और नकसी रािर  के आनर्िक निकास के  ीच िनात्मक सह - सं ंि हैं। मानि पंूजी से 

तात्पयि नकसी रािर  की जनसंख्या के ज्ञान और कौशल के भंडार से है। मानि पंूजी में ननिेश करने से 

रािर  के मानि संसािन की दक्षता और क्षमताओ ंमें सुिार होता है।  

मानि पंूजी ननमािण के निनभन्न स्रोतो ं(नशक्षा, स्वास्थ्य, प्रनशक्षण आनद) के माध्यम से प्राि तकनीकी 

कौशल उत्पादकता और उत्पादन  ढाने में योिदान करते हैं। इसके अनतररि, मानि पंूजी निाचार 

को प्रोत्सानहत करती है और नई तकनीको ंको अपनाने की क्षमता में िृप्तद्ध करती है, नजससे आनर्िक 

निकास होता है।       (पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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30. 

 
(a) "रै्ि कीटनाशक हररत क्रांनत के मृदा ि र्ल ननकायो ंपर दुष्प्रभािो ंको सीनमत करने में सहायता करते हैं 

तथा िारणीय निकास को प्रोत्सानहत करते हैं।" 

उपरोक्त कथन का िैि स्पष्टीकरण द्वारा औनचत्य नसद्ध करें। 

उत्तर: भारत में हररत क्रांनत की शुरुआत के कारण, अनिक से अनिक रासायननक कीटनाशको ंके 

उपयोि ने नमट्टी, जल ननकायो ंऔर भूजल आनद के दूनषत होने के कारण इन पर प्रनतकूल प्रभाि डाला 

है। 

जैि कीटनाशको ंका उपयोि रासायननक कीटनाशको ंके नलए एक पयाििरण अनुकूल निकल्प के रूप 

में कायि करता है। इसके अनतररि, सांपो ंऔर पनक्षयो ंजैसे प्राकृनतक नशकाररयो ंको  ढािा देने से 

कीटो ंको ननयंनत्रत करने, पाररप्तस्थनतकी तंत्र का समर्िन करने और िारणीय कृनष में योिदान करने में 

मदद नमलती है।      (पूरे उत्तर को एक सार् अंनकत नकया जाए) 

(b) अिशोर्ण क्षमता को पररभानर्त करें। 

उत्तर: अिशोषण क्षमता का अर्ि पयाििरण की अपक्षय को सोखने की योग्यता से है। 
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31. 

(a) 
भारतीय अथभव्यिस्था के योर्ना उदे्दश्य के रूप में ‘आत्म-ननभभरता’ के चयन के पीछे के तकों का संनक्षि िणभन 

करें। 

उत्तर: नीनत ननमािताओ ंद्वारा भारत की निकास रणनीनत में ‘आत्म-ननभिरता’ को कें द्रीय ननयोजन उदे्दश्य 

के रूप में अपनाया िया, नजसके ननम्ननलप्तखत कारण रे्: 

● निदेशो ंपर ननभिरता कम करने के नलए घरेलू संसािनो ंको जुटाने पर जोर नदया िया। 

● यह आशंका र्ी नक आयानतत खाद्य आपूनति, निदेशी प्रौद्योनिकी और निदेशी पंूजी पर ननभिरता 

हमारी नीनतयो ंमें निदेशी हस्के्षप में िृप्तद्ध कर सकती है। 

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

अर्िा 
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(b) 

 
व्याख्या करें  नक, नकस प्रकार िसु्त ि सेिा कर (GST) ने िसु्तओ ंि सेिाओ ंपर करो ंकी िहलता को सरल िना 

नदया है।  

उत्तर: िसु् ि सेिा कर (GST) एकल व्यापक अप्रत्यक्ष कर है। जीएसटी के अंतिित, िसु्ओ ंऔर सेिाओ ं

के संचालन के प्रते्यक चरण में मूल्य िििन के आिार पर कर लिाया जाता है। इसने िसु्ओ ं के 

उत्पादन/न क्री या सेिा के प्राििान पर लिाए िए  ड़ी संख्या में अप्रत्यक्ष करो ंको प्रनतस्थानपत कर 

नदया है। इस प्रकार, जीएसटी एकरूपता सुनननित करता है, कर का  ोझ कम करता है, सोपानन 

(Cascading) प्रभािो ंपर रोक लिाता है, और पूरे देश में व्यापार करने की सुनििा को  ढाता है।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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32. 

 
पानकस्तान द्वारा अपने आनथभक निकास पथ के नलए उठाए गए निकासात्मक कदमो ंका िणभन करें। 

उत्तर: पानकस्ान ने साििजननक और ननजी के्षत्रो ंके सह-अप्तस्त्व के सार् एक नमनित अर्िव्यिस्था 

मॉडल को अपनाया र्ा। आयात प्रनतस्थापन-आिाररत औद्योनिकीकरण सुनननित करने के नलए निनभन्न 

प्रकार के निननयनमत नीनतित रूपरेखाएं प्रारंभ की िई र्ी। 

हररत क्रांनत के प्रारंभ ने कृनष प्रनक्रयाओ ंमें मशीनीकरण की शुरुआत की। आिाररक संरचना में 

साििजननक ननिेश में िृप्तद्ध ने कृनष संरचना को कािी पररिनतित नकया र्ा। पानकस्ान ने अपने पंूजीित 

िसु्ओ ंके उद्योिो ंका भी रािर ीयकरण नकया र्ा। तदुपरांत, ननजीकरण को प्रोत्सानहत करने के नलए 

आनर्िक सुिार शुरू नकए िए।     (पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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33. 

(a) 
मान्य कारणो ंद्वारा उले्लख करें  नक, ननम्ननलखखत कथन सत्य है अथिा असत्य: 

(i) औपननिेनशक शासन में भारत में असंतुनलत निकास हआ था। 

उत्तर: सत्य। औपननिेनशक शासन के दौरान भारत की अर्िव्यिस्था मूल रूप से कृनष प्रिान रही, 

पंूजीित िसु् उद्योि शायद ही मौजूद रे्। इसके अनतररि, नए निकनसत औद्योनिक के्षत्र की िृप्तद्ध दर 

और सकल घरेलू उत्पाद (GDP) में इसका योिदान  हुत कम रहा। 

(ii) 1950 से 1990 के मध्य भारत में लागू की गई आनथभक नीनतयो ंका उदे्दश्य के्षत्रीय समानता को प्रोत्सानहत 

करना था। 

उत्तर: सत्य। के्षत्रीय समानता को प्रोत्सानहत करने के नलए, आनर्िक रूप से नपिडे़ के्षत्रो ंमें औद्योनिक 

लाइसेंस प्राि करने की प्रनक्रया को सरल  नाया िया। इसके अनतररि, औद्योनिक संचालन की दक्षता 

और प्रभािशीलता सुनननित करने के नलए, ऐसी इकाइयो ंको कर लाभ और कम टैररि पर न जली 

जैसी कुि सुनििाएं भी दी िई।ं 
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(iii) 1991 के उपरांत की अिनि में भारत िाह्य प्रॉपण (outsourcing) के नलए एक अनुकूल स्थान िन गया। 

उत्तर: सत्य। अपेक्षाकृत सस्ी लाित पर कुशल िमशप्ति की उपलब्धता ने भारत को  हुरािर ीय ननिमो ं

(MNCs) के नलए अपनी सेिाओ ंको भारत में आउटसोसि करने हेतु एक प्रमुख  ाह्य प्रॉपण कें द्र  ना 

नदया है। 
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 (b) (i) अंतर स्पष्ट करें : 

(1) प्रशुल्क ि अप्रशुल्क अिरोिक 

उत्तर: प्रशुि अिरोिक करो ंके रूप में सरकार द्वारा आयात पर लिाए िए प्रनत ंिो ंको संदनभित करते 

हैं। ज नक, अप्रशुि अिरोिक करो ंके अनतररि अन्य रूपो ंमें सरकार द्वारा आयात पर लिाए िए 

प्रनत ंि हैं, नजनमें मुख्य रूप से आयानतत िसु्ओ ंकी मात्रा और िुणित्ता पर प्रनत ंि शानमल हैं। 

 

(2) नद्वपक्षीय ि िहपक्षीय व्यापार 

उत्तर: नद्वपक्षीय व्यापार से तात्पयि दो देशो ंके  ीच िसु्ओ ंऔर सेिाओ ंके आदान-प्रदान करने के नलए 

नकया जाने िाला व्यापार से है। ज नक,  हुपक्षीय व्यापार एक देश द्वारा दो से अनिक देशो ंके सार् 

िसु्ओ ंऔर सेिाओ ंका आदान-प्रदान करने के नलए नकया जाने िाला व्यापार है। 

 

(ii) "लघु उद्योगो ंको िडे़ उद्योगो ंके निरुद्ध एक सुरक्षा किच की आिश्यकता है।" 

उपरोक्त कथन के आलोक में, इस नदशा में सरकार द्वारा उठाए गए कदमो ंको निस्तार से समझाएं। 

उत्तर: लघु उद्योिो ं(SSIs) को  चाने के नलए सरकार द्वारा उठाए िए कदम इस प्रकार हैं: 

• कई उत्पादो ंका उत्पादन लघु उद्योिो ंके नलए आरनक्षत नकया िया, जो इन िसु्ओ ंके ननमािण 

की उनकी क्षमता पर ननभिर करता है। 

• उन्हें कम उत्पाद शुि और कम ब्याज दरो ंपर  ैंक ऋण जैसी सुनििाएं दी िई।ं  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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34. ननम्ननलखखत गद्य का ध्यानपूिभक अध्ययन करें : 

कृनर्-स्टाटभअप ि ग्रामीण उद्यम भारत में ग्रामीण निकास के नलए तीव्रता से महत्वपूणभ होते र्ा रहे हैं। िे भारत 

में ग्रामीण के्षत्र में आने िाली गंभीर चुनौनतयो ंका समािान प्रसु्तत करते हैं। ये उद्यम उन्नत कृनर्, IT-आिाररत 

ननगरानी प्रणाली ि िेटा आिाररत ननणभय लेने िाले उपकरण रै्से तकनीकी निाचार लाते हैं, र्ो उत्पादकता ि 

संसािन दक्षता में िृखद्ध करते हैं। 

आपूनतभ िंृखलाओ ंको सुव्यिखस्थत करके ि प्रत्यक्ष िार्ार से संपकभ  स्थानपत करके िे कृर्को ंके नलए उनचत 

मूल्य ननिाभरण सुनननित करते हैं तथा पारंपररक निचौनलयो ंपर ननभभरता भी कम करते हैं। ऐसे उद्यम ग्रामीण 

के्षत्रो ंमें रोर्गार सृर्न में सनक्रय रूप से योगदान प्रदान करते हैं। सरकार ने RKVY-RAFTAAR, कृनर् 

अिसंरचना कोर् तथा Agri-SURE आनद निनभन्न कायभक्रमो ंके माध्यम से कृनर् स्टाटभअपो ंि उद्यनमयो ंके नलए 

ननरंतर नीनत ि नििीय सहायता का प्रदशभन नकया है। 

उपरोक्त गद्य ि सामान्य ज्ञान के आिार पर ननम्ननलखखत प्रश्ो ंके उिर दें : 

(a) उले्लख करें  नक नकस प्रकार कृनर्-स्टाटभअप कृनर् के्षत्र में आने िाली गंभीर चुनौनतयो ंका समािान प्रसु्तत 

करते हैं। 

उत्तर: कृनष-स्टाटिअप कृनष के्षत्र की चुनौनतयो ंका समािान इस प्रकार प्रसु्त करते हैं: 

● तकनीकी निाचार जैसे नक उन्नत खेती, IT-आिाररत ननिरानी प्रणाली और डेटा-आिाररत 

ननणिय लेने िाले उपकरण। 

● आपूनति िंृखलाओ ंको सुव्यिप्तस्थत करना और प्रत्यक्ष  ाजार संपकि  स्थानपत करना नजससे 

 ेहतर मूल्य ननिािरण हो सकता है।  

(पूरे उत्तर को एक सार् अंनकत नकया जाए) 

 

(b) भारत में कृनर् स्टाटभअपो ंि उद्यनमयो ंको समथभन देने में सरकार की भूनमका पर नटप्पणी करें। 

उत्तर: सरकार ने RKVY-RAFTAAR, कृनष अिसंरचना कोष तर्ा Agri-SURE जैसे निनभन्न कायिक्रमो ं

के माध्यम से कृनष-स्टाटिअप और उद्यनमयो ंके नलए ननरंतर नीनत और नित्तीय सहायता का प्रदशिन 

नकया है।       (पूरे उत्तर को एक सार् अंनकत नकया जाए) 
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* * * 


